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WRITTEN PRACTICE ANSWERS
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8p = 56; 7 students

32 — 8 = t; 24 ounces
$487 + m = $800; $313
-

6 X7 =42,7 X6 =42,
42 ~-6=7,42+7 =6
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2936
$35.28
7533
480
560
$10.66
10,886

Saxon Math Intermediate 5
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4127
419
$13.53
660

6 items; sample: twelve
divided by 2 is 6, so there
are 6 items in each group.

100, 110, 120
ten divided by two
60

There were 60 books in all
5 boxes.

0.50; 50%

a. Attu; Virgin Islands (UK);
409 sq. mi

b. Attu and Cayman

c. Cayman, Tobago, and
Virgin Islands (US)

Early Finishers
nx6=36;n=6
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